

Some Families of Meromorphic Functions with Positive Coefficients Defined by Dziok-Srivastava Operator

T.Rosy¹, K. Muthunagai² and G.Murugusundaramoorthy³ *

¹ Department of Mathematics, Madras Christian College, Chennai - 600 059, India.
 E-mail:thomasrosy67@yahoo.in

² VIT University-Chennai Campus,Vandalur, Kelambakam Road ,Chennai -600 048
 E-mail:muthunagaik@yahoo.com

³School of Advanced Sciences, VIT University,Vellore - 632014, India.
 E-mail:gmsmoorthy@yahoo.com

(Received 21 January 2011 , accepted 9 May 2011)

Abstract:In the present investigation, the authors define a new class of meromorphic functions defined in the punctured unit disk $\Delta^* := \{z \in \mathbb{C} : 0 < |z| < 1\}$ by making use of the Dziok-Srivastava operator . Coefficient inequalities, growth and distortion inequalities, as well as closure results are obtained. We also establish some results concerning the partial sums of meromorphic functions and neighbourhood results for functions in the new class.

Keywords: Meromorphic functions; starlike function; convolution; positive coefficients; coefficient inequalities; integral operator

1 Introduction

Let Σ denote the class of normalized meromorphic functions f of the form

$$f(z) = \frac{1}{z} + \sum_{n=1}^{\infty} a_n z^n, \tag{1}$$

defined on the punctured unit disk $\Delta^* := \{z \in \mathbb{C} : 0 < |z| < 1\}$. A function $f \in \Sigma$ is *meromorphic starlike of order* α ($0 \leq \alpha < 1$) if $-\Re\left(\frac{zf'(z)}{f(z)}\right) > \alpha$ ($z \in \Delta := \Delta^* \cup \{0\}$). The class of all such functions is denoted by $\Sigma^*(\alpha)$. A function $f \in \Sigma$ is *meromorphic convex of order* α ($0 \leq \alpha < 1$) if $-\Re\left(1 + \frac{zf''(z)}{f'(z)}\right) > \alpha$ ($z \in \Delta := \Delta^* \cup \{0\}$). Let Σ_P be the class of functions $f \in \Sigma$ with $a_n \geq 0$. The subclass of Σ_P consisting of starlike functions of order α is denoted by $\Sigma_P^*(\alpha)$ and convex functions functions of order α by $\Sigma_P^K(\alpha)$. For functions $f(z)$ given by (1) and $g(z) = \frac{1}{z} + \sum_{n=1}^{\infty} b_n z^n$ we define the Hadamard product or convolution of f and g by $(f * g)(z) := \frac{1}{z} + \sum_{n=1}^{\infty} a_n b_n z^n$.

For complex parameters $\alpha_1, \dots, \alpha_l$ and β_1, \dots, β_m ($\beta_j \neq 0, -1, \dots; j = 1, 2, \dots, m$) the *generalized hypergeometric function* ${}_lF_m(z)$ is defined by

$${}_lF_m(z) \equiv {}_lF_m(\alpha_1, \dots, \alpha_l; \beta_1, \dots, \beta_m; z) := \sum_{n=0}^{\infty} \frac{(\alpha_1)_n \dots (\alpha_l)_n}{(\beta_1)_n \dots (\beta_m)_n} \frac{z^n}{n!} \tag{2}$$

$$(l \leq m + 1; l, m \in N_0 := N \cup \{0\}; z \in \Delta)$$

where N denotes the set of all positive integers and $(a)_n$ is the Pochhammer symbol defined by

$$(a)_n = \frac{\Gamma(a+n)}{\Gamma(a)} = \begin{cases} 1, & n = 0 \\ a(a+1)(a+2)\dots(a+n-1), & n \in N; a \in C \end{cases} \tag{3}$$

*Corresponding author. E-mail address: gmsmoorthy@yahoo.com

For positive real values of $\alpha_1, \dots, \alpha_l$ and β_1, \dots, β_m ($\beta_j \neq 0, -1, \dots; j = 1, 2, \dots, m$), let

$$H(\alpha_1, \dots, \alpha_l; \beta_1, \dots, \beta_m) : \Sigma \rightarrow \Sigma$$

be a linear operator defined by

$$\begin{aligned} \mathcal{H}(\alpha_1, \dots, \alpha_l; \beta_1, \dots, \beta_m)f(z) &= \mathcal{H}_m^l f(z) = z^{-1} {}_lF_m(\alpha_1, \alpha_2, \dots, \alpha_l; \beta_1, \beta_2, \dots, \beta_m; z) * f(z) \\ \mathcal{H}_m^l f(z) &= z^{-1} + \sum_{n=1}^{\infty} \Gamma_n a_n z^n \end{aligned} \tag{4}$$

where

$$\Gamma_n = \left| \frac{(\alpha_1)_n \dots (\alpha_l)_n}{(\beta_1)_n \dots (\beta_m)_n} \frac{1}{n!} \right| \tag{5}$$

$\alpha_i > 0, (i = 1, 2, \dots, l), \beta_j > 0, (j = 1, 2, \dots, m), l \leq m + 1; l, m \in N_0 = N \cup \{0\}$. For notational simplicity, we use a shorter notations $H_m^l[\alpha_1]$ for $H(\alpha_1, \dots, \alpha_l; \beta_1, \dots, \beta_m)$, in the sequel.

Some interesting subclasses of analytic functions associated with the generalized hypergeometric function, were considered recently by Srivastava et al., [23] (also see [7-9]). The class $\Sigma_P^*(\alpha)$ and various other subclasses of Σ have been studied rather extensively in [1, 3, 5, 13, 15, 17-19, 26, 27] see also Duren [[6], pages 29 and 137], and Srivastava and Owa [[22], pages 86 and 429]). Now by making use of the generalized Dziok-Srivastava operator \mathcal{H}_m^l , we define a new subclass of functions in Σ_P as follows.

For $0 \leq \alpha < 1$ and $0 \leq \lambda < 1$, we let $\mathcal{M}(\lambda, \alpha)$ denote a subclass of Σ_P consisting functions of the form (1) satisfying the condition that

$$\Re \left(\frac{z(\mathcal{H}_m^l f(z))'}{(\lambda - 1)\mathcal{H}_m^l f(z) + \lambda z(\mathcal{H}_m^l f(z))'} \right) > \alpha, \tag{6}$$

where \mathcal{H}_m^l is given by (5). In this paper, we obtain the coefficient inequalities, growth and distortion inequalities, as well as closure results for the class $\mathcal{M}(\lambda, \alpha)$. Properties of a certain integral operator and its inverse defined on the new class $\mathcal{M}(\lambda, \alpha)$ are also discussed.

2 Coefficients Inequalities

Our first theorem gives a necessary and sufficient condition for a function f to be in the class $\mathcal{M}(\lambda, \alpha)$.

Theorem 1 Let $f(z) \in \Sigma_P$ be given by (1). Then $f \in \mathcal{M}(\lambda, \alpha)$ if and only if

$$\sum_{n=1}^{\infty} \{n + \alpha - \alpha\lambda(1 + n)\} \Gamma_n a_n \leq 1 - \alpha. \tag{7}$$

Proof. If $f \in \mathcal{M}(\lambda, \alpha)$, then

$$\Re \left(\frac{z(\mathcal{H}_m^l f(z))'}{(\lambda - 1)\mathcal{H}_m^l f(z) + \lambda z(\mathcal{H}_m^l f(z))'} \right) = \Re \left\{ \frac{-1 + \sum_{n=1}^{\infty} n\Gamma_n a_n z^{n+1}}{-1 + \sum_{n=1}^{\infty} (\lambda - 1 + \lambda n)\Gamma_n a_n z^{n+1}} \right\} > \alpha.$$

By letting $z \rightarrow 1^-$, we have

$$\left\{ \frac{-1 + \sum_{n=1}^{\infty} n\Gamma_n a_n}{-1 + \sum_{n=1}^{\infty} (\lambda - 1 + \lambda n)\Gamma_n a_n} \right\} > \alpha.$$

This shows that (7) holds. Conversely assume that (7) holds. Since

$$\Re(w) > \alpha \quad \text{if and only if} \quad |w - 1| < |w + 1 - 2\alpha|,$$

it is sufficient to show that

$$\left| \frac{z(\mathcal{H}_m^l f(z))' - [(\lambda - 1)\mathcal{H}_m^l f(z) + \lambda z(\mathcal{H}_m^l f(z))']}{z(\mathcal{H}_m^l f(z))' + (1 - 2\alpha)[(\lambda - 1)\mathcal{H}_m^l f(z) + \lambda z(\mathcal{H}_m^l f(z))']} \right| < 1 \quad (z \in \Delta).$$

Using (7), we see that

$$\begin{aligned} & \left| \frac{z(\mathcal{H}_m^l f(z))' - [(\lambda - 1)\mathcal{H}_m^l f(z) + \lambda z(\mathcal{H}_m^l f(z))']}{z(\mathcal{H}_m^l f(z))' + (1 - 2\alpha)[(\lambda - 1)\mathcal{H}_m^l f(z) + \lambda z(\mathcal{H}_m^l f(z))']} \right| \\ &= \left| \frac{\sum_{n=1}^{\infty} (1 - \lambda)(n + 1)\Gamma_n a_n z^{n+1}}{-2(1 - \alpha) + \sum_{n=1}^{\infty} [n(1 + (1 - 2\alpha)\lambda) + (1 - 2\alpha)(\lambda - 1)]\Gamma_n a_n z^{n+1}} \right| \\ &\leq \frac{\sum_{n=1}^{\infty} (1 - \lambda)(n + 1)\Gamma_n a_n}{2(1 - \alpha) - \sum_{n=1}^{\infty} [n(1 + (1 - 2\alpha)\lambda) + (1 - 2\alpha)(\lambda - 1)]\Gamma_n a_n} \leq 1. \end{aligned}$$

Thus we have $f \in \mathcal{M}(\lambda, \alpha)$. ■

For the sake of brevity throughout this paper we let

$$d_n(\lambda, \alpha) := n + \alpha - \alpha\lambda(1 + n) \tag{8}$$

$$d_1(\lambda, \alpha) = 1 + (1 - 2\lambda)\alpha$$

unless otherwise stated. Our next result gives the coefficient estimates for functions in $\mathcal{M}(\lambda, \alpha)$.

Theorem 2 *If $f \in \mathcal{M}(\lambda, \alpha)$, then*

$$a_n \leq \frac{1 - \alpha}{d_n(\lambda, \alpha)\Gamma_n}, \quad n = 1, 2, 3, \dots$$

The result is sharp for the functions $F_n(z)$ given by

$$F_n(z) = \frac{1}{z} + \frac{1 - \alpha}{d_n(\lambda, \alpha)\Gamma_n} z^n, \quad n = 1, 2, 3, \dots$$

Proof. If $f \in \mathcal{M}(\lambda, \alpha)$, then we have, for each n ,

$$d_n(\lambda, \alpha)a_n \leq \sum_{n=1}^{\infty} d_n(\lambda, \alpha)\Gamma_n a_n \leq 1 - \alpha.$$

Therefore we have

$$a_n \leq \frac{1 - \alpha}{d_n(\lambda, \alpha)\Gamma_n}.$$

Since

$$F_n(z) = \frac{1}{z} + \frac{1 - \alpha}{d_n(\lambda, \alpha)\Gamma_n} z^n$$

satisfies the conditions of Theorem 1, $F_n(z) \in \mathcal{M}(\lambda, \alpha)$ and the equality is attained for this function. ■

Theorem 3 *If $f \in \mathcal{M}(\lambda, \alpha)$, then*

$$\frac{1}{r} - \frac{1 - \alpha}{(1 + \alpha - 2\alpha\lambda)\Gamma_1} r \leq |f(z)| \leq \frac{1}{r} + \frac{1 - \alpha}{(1 + \alpha - 2\alpha\lambda)\Gamma_1} r \quad (|z| = r).$$

The result is sharp for

$$f(z) = \frac{1}{z} + \frac{1 - \alpha}{(1 + \alpha - 2\alpha\lambda)\Gamma_1} z. \tag{9}$$

Proof. Since $f(z) = \frac{1}{z} + \sum_{n=1}^{\infty} a_n z^n$, we have

$$|f(z)| \leq \frac{1}{r} + \sum_{n=1}^{\infty} a_n r^n \leq \frac{1}{r} + r \sum_{n=1}^{\infty} a_n.$$

Since,

$$\sum_{n=1}^{\infty} a_n \leq \frac{1 - \alpha}{(1 + \alpha - 2\alpha\lambda)\Gamma_1}.$$

Using this, we have

$$|f(z)| \leq \frac{1}{r} + \frac{1 - \alpha}{(1 + \alpha - 2\alpha\lambda)\Gamma_1} r.$$

Similarly

$$|f(z)| \geq \frac{1}{r} - \frac{1 - \alpha}{(1 + \alpha - 2\alpha\lambda)\Gamma_1} r.$$

The result is sharp for $f(z) = \frac{1}{z} + \frac{1-\alpha}{(1+\alpha-2\alpha\lambda)\Gamma_1} z$. ■

Similarly we have the following:

Theorem 4 If $f \in \mathcal{M}(\lambda, \alpha)$, then

$$\frac{1}{r^2} - \frac{1 - \alpha}{(1 + \alpha - 2\alpha\lambda)\Gamma_1} \leq |f'(z)| \leq \frac{1}{r^2} + \frac{1 - \alpha}{(1 + \alpha - 2\alpha\lambda)\Gamma_1} \quad (|z| = r).$$

The result is sharp for the function given by (9).

3 Closure Theorems

Let the functions $F_k(z)$ be given by

$$F_k(z) = \frac{1}{z} + \sum_{n=1}^{\infty} a_{n,k} z^n, \quad k = 1, 2, \dots, m. \tag{10}$$

We shall prove the following closure theorems for the class $\mathcal{M}(\lambda, \alpha)$.

Theorem 5 Let the function $F_k(z)$ defined by (10) be in the class $\mathcal{M}(\lambda, \alpha)$ for every $k = 1, 2, \dots, m$. Then the function $f(z)$ defined by $f(z) = \frac{1}{z} + \sum_{n=1}^{\infty} a_n z^n$, ($a_n \geq 0$) belongs to the class $\mathcal{M}(\lambda, \alpha)$, where $a_n = \frac{1}{m} \sum_{k=1}^m a_{n,k}$ ($n = 1, 2, \dots$).

Proof. Since $F_k(z) \in \mathcal{M}(\lambda, \alpha)$, it follows from Theorem 1, that

$$\sum_{n=1}^{\infty} d_n(\lambda, \alpha) \Gamma_n a_{n,k} \leq 1 - \alpha, \forall k = 1, 2, \dots, m. \tag{11}$$

Hence

$$\begin{aligned} \sum_{n=1}^{\infty} d_n(\lambda, \alpha) \Gamma_n a_n &= \sum_{n=1}^{\infty} d_n(\lambda, \alpha) \Gamma_n \left(\frac{1}{m} \sum_{k=1}^m a_{n,k} \right) \\ &= \frac{1}{m} \sum_{k=1}^m \left(\sum_{n=1}^{\infty} d_n(\lambda, \alpha) \Gamma_n a_{n,k} \right) \\ &\leq 1 - \alpha. \end{aligned}$$

By Theorem 1, we have $f(z) \in \mathcal{M}(\lambda, \alpha)$. ■

Theorem 6 The class $\mathcal{M}(\lambda, \alpha)$ is closed under convex linear combination.

Proof. Let the function $F_k(z)$ given by (10) be in the class $\mathcal{M}(\lambda, \alpha)$. Then it is enough to show that the function

$$H(z) = \lambda F_1(z) + (1 - \lambda) F_2(z) \quad (0 \leq \lambda \leq 1)$$

is also in the class $\mathcal{M}(\lambda, \alpha)$. Since for $0 \leq \mu \leq 1$,

$$H(z) = \frac{1}{z} + \sum_{n=1}^{\infty} [\mu a_{n,1} + (1 - \mu) a_{n,2}] z^n,$$

we observe that

$$\begin{aligned} & \sum_{n=1}^{\infty} [\mu a_{n,1} + (1 - \mu) a_{n,2}] d_n(\lambda, \alpha) \Gamma_n \\ &= \mu \sum_{n=1}^{\infty} d_n(\lambda, \alpha) \Gamma_n a_{n,1} + (1 - \mu) \sum_{n=1}^{\infty} d_n(\lambda, \alpha) \Gamma_n a_{n,2} \\ &\leq 1 - \alpha. \end{aligned}$$

By Theorem 1, we have $H(z) \in \mathcal{M}(\lambda, \alpha)$. ■

Theorem 7 Let $F_0(z) = \frac{1}{z}$ and $F_n(z) = \frac{1}{z} + \frac{1-\alpha}{d_n(\lambda, \alpha)\Gamma_n} z^n$ for $n = 1, 2, \dots$. Then $f(z) \in \mathcal{M}(\lambda, \alpha)$ if and only if $f(z)$ can be expressed in the form $f(z) = \sum_{n=0}^{\infty} \nu_n F_n(z)$ where $\nu_n \geq 0$ and $\sum_{n=0}^{\infty} \nu_n = 1$.

Proof. Let

$$\begin{aligned} f(z) &= \sum_{n=0}^{\infty} \nu_n F_n(z) \\ &= \frac{1}{z} + \sum_{n=1}^{\infty} \frac{\nu_n(1-\alpha)}{d_n(\lambda, \alpha)\Gamma_n} z^n. \end{aligned}$$

Then

$$\sum_{n=1}^{\infty} \nu_n \frac{1-\alpha}{d_n(\lambda, \alpha)\Gamma_n} \frac{d_n(\lambda, \alpha)\Gamma_n}{(1-\alpha)} = \sum_{n=1}^{\infty} \nu_n = 1 - \nu_0 \leq 1.$$

By Theorem 2, we have $f(z) \in \mathcal{M}(\lambda, \alpha)$. Conversely, let $f(z) \in \mathcal{M}(\lambda, \alpha)$. From Theorem 2, we have $a_n \leq \frac{1-\alpha}{d_n(\lambda, \alpha)\Gamma_n}$; for $n = 1, 2, \dots$ we may take $\nu_n = \frac{d_n(\lambda, \alpha)\Gamma_n}{1-\alpha} a_n$, for $n = 1, 2, \dots$ and $\lambda_0 = 1 - \sum_{n=1}^{\infty} \nu_n$. Then $f(z) = \sum_{n=0}^{\infty} \nu_n F_n(z)$. ■

4 Integral Operators

In this section, we consider integral transforms of functions in the class $\mathcal{M}(\alpha, \lambda)$.

Theorem 8 Let the function $f(z)$ given by (1) be in $\mathcal{M}(\lambda, \alpha)$. Then the integral operator

$$F(z) = c \int_0^1 u^c f(uz) du \quad (0 < u \leq 1, 0 < c < \infty)$$

is in $\mathcal{M}(\lambda, \alpha)$, where

$$\delta \leq \frac{(c + n + 1)d_n(\lambda, \alpha) - cn(1 - \alpha)}{c(1 - \alpha) \{1 - \lambda(1 + n)\} + d_n(\lambda, \alpha)(c + n + 1)}.$$

The result is sharp for the function $f(z) = \frac{1}{z} + \frac{1-\alpha}{(1+\alpha-2\alpha\lambda)\Gamma_1} z$.

Proof. Let $f(z) \in \mathcal{M}(\lambda, \alpha)$. Then

$$F(z) = c \int_0^1 u^c f(uz) du = \frac{1}{z} + \sum_{n=1}^{\infty} \frac{c}{c + n + 1} f_n z^n.$$

It is sufficient to show that

$$\sum_{n=1}^{\infty} \frac{c d_n(\lambda, \delta)\Gamma_n}{(c + n + 1)(1 - \delta)} a_n \leq 1. \tag{12}$$

Since $f \in \mathcal{M}(\lambda, \alpha)$, we have

$$\sum_{n=1}^{\infty} \frac{d_n(\lambda, \alpha)\Gamma_n}{(1 - \alpha)} a_n \leq 1.$$

Note that (12) is satisfied if

$$\frac{c d_n(\lambda, \delta)\Gamma_n}{(c + n + 1)(1 - \delta)} \leq \frac{d_n(\lambda, \alpha)\Gamma_n}{(1 - \alpha)}.$$

Solving for δ , we have

$$\delta \leq \frac{(c + n + 1)d_n(\lambda, \alpha) - cn(1 - \alpha)}{c(1 - \alpha) \{1 - \lambda(1 + n)\} + d_n(\lambda, \alpha)(c + n + 1)} = \Phi(n).$$

A simple computation will show that $\Phi(n)$ is increasing and $\Phi(n) \geq \Phi(1)$. Using this, the results follows. ■

Theorem 9 Let $f(z)$, given by (1), be in $\mathcal{M}(\lambda, \alpha)$,

$$F(z) = \frac{1}{c}[(c + 1)f(z) + zf'(z)] = \frac{1}{z} + \sum_{n=1}^{\infty} \frac{c + n + 1}{c} f_n z^n, \quad c > 0. \tag{13}$$

Then $F(z)$ is in $\mathcal{M}(\lambda, \alpha)$ for $|z| \leq r(\alpha, \lambda, \beta)$ where

$$r(\alpha, \lambda, \beta) = \inf_n \left(\frac{c(1 - \beta)d_n(\lambda, \alpha)}{(1 - \alpha)(c + n + 1)d_n(\lambda, \beta)} \right)^{1/(n+1)}, \quad n = 1, 2, 3, \dots$$

The result is sharp for the function $f_n(z) = \frac{1}{z} + \frac{1-\alpha}{d_n(\lambda, \alpha)\Gamma_n} z^n, \quad n = 1, 2, 3, \dots$

Proof. Let $w = \frac{zf'(z)}{(\lambda-1)f(z)+\lambda zf'(z)}$. Then it is sufficient to show that $\left| \frac{w-1}{w+1-2\beta} \right| < 1$. A simple computation shows that this is satisfied if

$$\sum_{n=1}^{\infty} \frac{(c + n + 1)d_n(\lambda, \beta)\Gamma_n}{c(1 - \beta)} a_n |z|^{n+1} \leq 1. \tag{14}$$

Since $f \in \mathcal{M}(\lambda, \alpha)$, by Theorem 1, we have

$$\sum_{n=1}^{\infty} d_n(\lambda, \alpha)\Gamma_n a_n \leq 1 - \alpha.$$

The equation (14) is satisfied if

$$\frac{(c + n + 1)d_n(\lambda, \beta)\Gamma_n}{c(1 - \beta)} a_n |z|^{n+1} \leq \frac{d_n(\lambda, \alpha)\Gamma_n a_n}{1 - \alpha}.$$

Solving for $|z|$, we get the desired result. ■

5 Partial Sums

Silverman [21] determined sharp lower bounds on the real part of the quotients between the normalized starlike or convex functions and their sequences of partial sums. As a natural extension, one is interested to search results analogous to those of Silverman for meromorphic univalent functions. In this section, motivated essentially by the work of silverman [21] and Cho and Owa [4] we will investigate the ratio of a function of the form

$$f(z) = \frac{1}{z} + \sum_{n=1}^{\infty} a_n z^n, \tag{15}$$

to its sequence of partial sums

$$f_1(z) = \frac{1}{z} \text{ and } f_k(z) = \frac{1}{z} + \sum_{n=1}^k a_n z^n \tag{16}$$

when the coefficients are sufficiently small to satisfy the condition analogous to

$$\sum_{n=1}^{\infty} d_n(\lambda, \alpha)\Gamma_n a_n \leq 1 - \alpha.$$

More precisely we will determine sharp lower bounds for $\Re\{f(z)/f_k(z)\}$ and $\Re\{f_k(z)/f(z)\}$. In this connection we make use of the well known results that $\Re\left\{\frac{1+w(z)}{1-w(z)}\right\} > 0$ ($z \in \Delta$) if and only if $\omega(z) = \sum_{n=1}^{\infty} c_n z^n$ satisfies the inequality $|\omega(z)| \leq |z|$. Unless otherwise stated, we will assume that f is of the form (1) and its sequence of partial sums is denoted by $f_k(z) = \frac{1}{z} + \sum_{n=1}^k a_n z^n$.

Theorem 10 Let $f(z) \in \Sigma_P$ be given by (1) satisfies condition, (7)

$$\operatorname{Re} \left\{ \frac{f(z)}{f_k(z)} \right\} \geq \frac{d_{k+1}(\lambda, \alpha)\Gamma_{k+1} - 1 + \alpha}{d_{k+1}(\lambda, \alpha)\Gamma_{k+1}} \quad (z \in U) \tag{17}$$

where

$$d_n(\lambda, \alpha) \geq \begin{cases} 1 - \alpha, & \text{if } n = 1, 2, 3, \dots, k \\ d_{k+1}(\lambda, \alpha)\Gamma_{k+1}, & \text{if } n = k + 1, k + 2, \dots \end{cases} \tag{18}$$

The result (17) is sharp with the function given by

$$f(z) = \frac{1}{z} + \frac{1 - \alpha}{d_{k+1}(\lambda, \alpha)\Gamma_{k+1}} z^{k+1}. \tag{19}$$

Proof.

Define the function $w(z)$ by

$$\begin{aligned} \frac{1+w(z)}{1-w(z)} &= \frac{d_{k+1}(\lambda, \alpha)\Gamma_{k+1}}{1-\alpha} \left[\frac{f(z)}{f_k(z)} - \frac{d_{k+1}(\lambda, \alpha)\Gamma_{k+1} - 1 + \alpha}{d_{k+1}(\lambda, \alpha)\Gamma_{k+1}} \right] \\ &= \frac{1 + \sum_{n=1}^k a_n z^{n+1} + \left(\frac{d_{k+1}(\lambda, \alpha)\Gamma_{k+1}}{1-\alpha} \right) \sum_{n=k+1}^{\infty} a_n z^{n+1}}{1 + \sum_{n=1}^k a_n z^{n+1}} \end{aligned} \tag{20}$$

It suffices to show that $|w(z)| \leq 1$. Now, from (20) we can write

$$w(z) = \frac{\left(\frac{d_{k+1}(\lambda, \alpha)\Gamma_{k+1}}{1-\alpha} \right) \sum_{n=k+1}^{\infty} a_n z^{n+1}}{2 + 2 \sum_{n=1}^k a_n z^{n+1} + \left(\frac{d_{k+1}(\lambda, \alpha)\Gamma_{k+1}}{1-\alpha} \right) \sum_{n=k+1}^{\infty} a_n z^{n+1}}$$

Hence we obtain

$$|w(z)| \leq \frac{\left(\frac{d_{k+1}(\lambda, \alpha)\Gamma_{k+1}}{1-\alpha} \right) \sum_{n=k+1}^{\infty} |a_n|}{2 - 2 \sum_{n=1}^k |a_n| - \left(\frac{d_{k+1}(\lambda, \alpha)\Gamma_{k+1}}{1-\alpha} \right) \sum_{n=k+1}^{\infty} |a_n|}$$

Now $|w(z)| \leq 1$ if

$$2 \left(\frac{d_{k+1}(\lambda, \alpha)\Gamma_{k+1}}{1-\alpha} \right) \sum_{n=k+1}^{\infty} |a_n| \leq 2 - 2 \sum_{n=1}^k |a_n|$$

or, equivalently,

$$\sum_{n=1}^k |a_n| + \frac{d_{k+1}(\lambda, \alpha)\Gamma_{k+1}}{1-\alpha} \sum_{n=k+1}^{\infty} |a_n| \leq 1.$$

From the condition (7), it is sufficient to show that

$$\sum_{n=1}^k |a_n| + \frac{d_{k+1}(\lambda, \alpha)\Gamma_{k+1}}{1-\alpha} \sum_{n=k+1}^{\infty} |a_n| \leq \sum_{n=1}^{\infty} \frac{d_n(\lambda, \alpha)\Gamma_n}{1-\alpha} |a_n|$$

which is equivalent to

$$\begin{aligned} & \sum_{n=1}^k \left(\frac{d_n(\lambda, \alpha)\Gamma_n - 1 + \alpha}{1 - \alpha} \right) |a_n| \\ & + \sum_{n=k+1}^{\infty} \left(\frac{d_n(\lambda, \alpha)\Gamma_n - d_{k+1}(\lambda, \alpha)\Gamma_{k+1}}{1 - \alpha} \right) |a_n| \\ & \geq 0 \end{aligned} \tag{21}$$

To see that the function given by (19) gives the sharp result, we observe that for $z = re^{i\pi/k}$

$$\begin{aligned} \frac{f(z)}{f_k(z)} &= 1 + \frac{1 - \alpha}{d_{k+1}(\lambda, \alpha)\Gamma_{k+1}} z^n \rightarrow 1 - \frac{1 - \alpha}{d_{k+1}(\lambda, \alpha)\Gamma_{k+1}} \\ &= \frac{d_{k+1}(\lambda, \alpha)\Gamma_{k+1} - 1 + \alpha}{d_{k+1}(\lambda, \alpha)\Gamma_{k+1}} \text{ when } r \rightarrow 1^- \end{aligned}$$

which shows the bound (17) is the best possible for each $k \in \mathbb{N}$. ■

We next determine bounds for $f_k(z)/f(z)$.

Theorem 11 *If f of the form (1) satisfies the condition (7), then*

$$\operatorname{Re} \left\{ \frac{f_k(z)}{f(z)} \right\} \geq \frac{d_{k+1}(\lambda, \alpha)\Gamma_{k+1}}{d_{k+1}(\lambda, \alpha)\Gamma_{k+1} + 1 - \alpha} \quad (z \in U), \tag{22}$$

where $d_{k+1}(\lambda, \alpha)\Gamma_{k+1} \geq 1 - \alpha$ and

$$d_k(\lambda, \alpha)\omega_k^r(\alpha_1; \eta; l; m) \geq \begin{cases} 1 - \alpha, & \text{if } k = 1, 2, 3, \dots, n \\ d_{k+1}(\lambda, \alpha)\Gamma_{k+1}, & \text{if } k = n + 1, n + 2, \dots \end{cases} \tag{23}$$

The result (22) is sharp with the function given by (19).

Proof. We write

$$\begin{aligned} \frac{1 + w(z)}{1 - w(z)} &= \frac{d_{k+1}(\lambda, \alpha)\Gamma_{k+1} + 1 - \gamma}{1 - \alpha} \left[\frac{f_k(z)}{f(z)} - \frac{d_{k+1}(\lambda, \alpha)\Gamma_{k+1}}{d_{k+1}(\lambda, \alpha)\Gamma_{k+1} + 1 - \alpha} \right] \\ &= \frac{1 + \sum_{n=1}^k a_n z^{n+1} - \left(\frac{d_{k+1}(\lambda, \alpha)\Gamma_{k+1}}{1 - \alpha} \right) \sum_{n=k+1}^{\infty} a_n z^{n+1}}{1 + \sum_{n=1}^{\infty} a_n z^{n+1}}, \end{aligned}$$

where

$$|w(z)| \leq \frac{\left(\frac{d_{k+1}(\lambda, \alpha)\Gamma_{k+1} + 1 - \alpha}{1 - \alpha} \right) \sum_{n=k+1}^{\infty} |a_n|}{2 - 2 \sum_{n=1}^k |a_n| - \left(\frac{d_{k+1}(\lambda, \alpha)\Gamma_{k+1} - 1 + \alpha}{1 - \alpha} \right) \sum_{n=k+1}^{\infty} |a_n|} \leq 1.$$

This last inequality is equivalent to

$$\sum_{n=1}^k |a_n| + \frac{d_{k+1}(\lambda, \alpha)\Gamma_{k+1}}{1 - \alpha} \sum_{n=k+1}^{\infty} |a_n| \leq 1.$$

Make use of (7) to get (21). Finally, equality holds in (22) for the extremal function $f(z)$ given by (19). ■

6 Neighborhoods for the class $\mathcal{M}(\alpha, \lambda)$

Following the earlier works on neighborhoods of analytic functions by Goodman [11] and Ruscheweyh [20], we begin by introducing here the δ -neighborhood of a function $f \in \Sigma_p$ of the form(1) by means of the definition below:

$$N_\delta(f) := \left\{ g \in \Sigma_p : g(z) = \frac{1}{z} + \sum_{n=1}^\infty b_n z^n \text{ and } \sum_{n=1}^\infty n|a_n - b_n| \leq \delta \right\}. \tag{24}$$

Particulary for the identity function $e(z) = \frac{1}{z}$, we have

$$N_\delta(e) := \left\{ g \in \Sigma : g(z) = \frac{1}{z} + \sum_{n=1}^\infty b_n z^n \text{ and } \sum_{n=2}^\infty n|b_n| \leq \delta \right\}. \tag{25}$$

Theorem 12 *If*

$$\delta := \frac{1 - \alpha}{(1 + (1 - 2\lambda)\alpha)\Gamma_1} \tag{26}$$

then $\mathcal{M}(\alpha, \lambda) \subset N_\delta(e)$.

Proof. For $f \in \mathcal{M}(\alpha, \lambda)$, Theorem 1, immediatly yields

$$d_1(\lambda, \alpha)\Gamma_1 \sum_{n=1}^\infty a_n \leq 1 - \alpha,$$

so that

$$\sum_{n=1}^\infty a_n \leq \frac{(1 - \alpha)}{d_1(\lambda, \alpha)\Gamma_1} \tag{27}$$

On the other hand, from (7) and (27) that

$$\begin{aligned} \Gamma_1 \sum_{n=2}^\infty na_n &\leq (1 - \alpha) - (1 - 2\lambda)\alpha \Gamma_1 \sum_{n=1}^\infty a_n \\ &\leq (1 - \alpha) - (1 - 2\lambda)\alpha \Gamma_1 \frac{(1 - \alpha)}{d_1(\lambda, \alpha)\Gamma_1} \\ &\leq \frac{1 - \alpha}{1 + (1 - 2\lambda)\alpha}, \end{aligned}$$

that is

$$\sum_{n=2}^\infty na_n \leq \frac{1 - \alpha}{(1 + (1 - 2\lambda)\alpha)\Gamma_1} := \delta \tag{28}$$

which, in view of the definition (25) proves Theorem 12. ■

Definition 1 *A function $f \in \Sigma_p$ is said to be in the class $\mathcal{M}(\lambda, \alpha, \gamma)$ if there exists a function $g \in \mathcal{M}(\lambda, \alpha)$ such that*

$$\left| \frac{f(z)}{g(z)} - 1 \right| < 1 - \gamma, \quad (z \in \Delta, 0 \leq \gamma < 1). \tag{29}$$

Theorem 13 *If $g \in \mathcal{M}(\lambda, \alpha)$ and*

$$\gamma = 1 - \frac{\delta d_1(\lambda, \alpha)\Gamma_1}{d_1(\lambda, \alpha)\Gamma_1 - (1 - \alpha)}, \tag{30}$$

then

$$N_\delta(g) \subset \mathcal{M}(\lambda, \alpha, \gamma).$$

Proof. Let $f \in N_\delta(g)$. Then we find from (24) that

$$\sum_{n=1}^{\infty} n|a_n - b_n| \leq \delta, \tag{31}$$

which implies the coefficient inequality

$$\sum_{n=1}^{\infty} |a_n - b_n| \leq \delta, \quad (n \in \mathbb{N}). \tag{32}$$

Since $g \in \mathcal{M}(\lambda, \alpha)$, we have [cf. equation (7)]

$$\sum_{n=1}^{\infty} b_n \leq \frac{1 - \alpha}{d_1(\lambda, \alpha)\Gamma_1}, \tag{33}$$

so that

$$\begin{aligned} \left| \frac{f(z)}{g(z)} - 1 \right| &< \frac{\sum_{n=1}^{\infty} |a_n - b_n|}{1 - \sum_{n=1}^{\infty} b_n} \\ &= \frac{\delta d_1(\lambda, \alpha)\Gamma_1}{d_1(\lambda, \alpha)\Gamma_1 - (1 - \alpha)} \\ &= 1 - \gamma, \end{aligned}$$

provided γ is given by (30). Hence, by definition, $f \in \mathcal{M}(\lambda, \alpha, \gamma)$ for γ given by (30), which completes the proof. ■

Concluding Remarks:The results obtained here are generalizes the results obtained in [12] and by choosing $\lambda = 1; \lambda = 0$ and specializing the parameters l, m, λ , the various results presented in this paper would provide interesting extensions and generalizations of those considered earlier by [1–3, 5, 13, 22, 26, 27]. In fact, by appropriately selecting these arbitrary sequences, the results presented in this paper would find further applications for the class of meromorphic functions which would incorporate a generalized form of the DziokSrivastava linear operator involving the Hadamard product (or convolution) of the function in (1) with the Fox-Wright generalization ${}_l\psi_m$ of the hypergeometric function ${}_lF_m$. Theorem 1 to 13 would thus eventually lead us further to new results for the class of functions (defined analogously to the class $\mathcal{M}(\lambda, \alpha)$ by associating instead the Fox-Wright generalized hypergeometric function ${}_l\psi_m$. These considerations can fruitfully be worked out by closely following the recent investigations by Dziok and Raina [8] and Dziok et al. [9]. We choose to skip further details in this regard.

7 Acknowledgment

The authors would like thank the referees for their suggestions.

References

- [1] M. K. Aouf. On a certain class of meromorphic univalent functions with positive coefficients. *Rend. Mat. Appl.*,7(11) No2(1991):209-219.
- [2] S. K. Bajpai. A note on a class of meromorphic univalent functions. *Rev. Roumaine Math. Pures Appl.*, 22 No3(1977):295-297.
- [3] N. E. Cho, S. H. Lee and S. Owa. A class of meromorphic univalent functions with positive coefficients, *Kobe J. Math.*, 4 No1(1987):43-50.
- [4] N. E. Cho and S. Owa. Partial sums of certain meromorphic functions , *JIPAM*(<http://jipam.vu.edu.au>) Vol. 5, Issue 2, Article 30(2004).
- [5] J. Clunie. On meromorphic schlicht functions. *J. London Math. Soc.*, 34 (1959):215-216.
- [6] P. L. Duren, *Univalent Functions*, Grundlehren der mathematischen Wissenschaften, Vol. 259. Springer-Verlag, New York(1983).
- [7] J.Dziok and H.M.Srivastava.Certain subclasses of analytic functions associated with the generalized hypergeometric function. *Integral Transform Spec. Funct.*, 14 (2003):7-18.

- [8] J. Dziok, R.K. Raina. Families of analytic functions associated with the Wrights generalized hypergeometric function. *Demonstratio Math.*, 37 (2004):533-542.
- [9] J. Dziok, R.K. Raina, H.M. Srivastava. Some classes of analytic functions associated with operators on Hilbert space involving Wrights generalized hypergeometric function. *Proc. Jangjeon Math. Soc.*, 7(2004):43-55.
- [10] R. M. Goel and N. S. Sohi. On a class of meromorphic functions. *Glas. Mat. Ser.*, III 17(37) (1982),No.1, 1928.
- [11] A. W. Goodman. Univalent functions and nonanalytic curve. *Proc. Amer. Math. Soc.*, 8(1957): 598-601.
- [12] S.Kavitha, S.Sivasubramanian and K.Muthunagai. A class of meromorphic functions with positive coefficients. *Bulletin of Mathematical Analysis and Applications*, Vol.3 ,3(2010):109-121.
- [13] M. L. Mogra, T. R. Reddy, O. P. Juneja. Meromorphic univalent functions with positive coefficients. *Bull. Austral. Math. Soc.*, 32(1985):161–176.
- [14] Maslina Darus. Meromorphic functions with positive coefficients. *Int. J. Math. Math. Sci.*, 4(2004):319–324.
- [15] Z. Nehari and E. Netanyahu. On the coefficients of meromorphic schlicht functions. *Proc. Amer. Math. Soc.* ,8 (1957):15-23.
- [16] S. Owa and N. N. Pascu. Coefficient inequalities for certain classes of meromorphically starlike and meromorphically convex functions. *J. Inequal. Pure Appl. Math.*,4(2003):1-6.
- [17] Ch. Pommerenke.ber einige Klassen meromorpher schlichter Funktionen. *Math. Z.*(German), 78 (1962):263-284.
- [18] Ch. Pommerenke. On meromorphic starlike functions. *Pacific J. Math.* ,13 (1963): 221-235.
- [19] W. C. Royster. Meromorphic starlike multivalent functions. *Trans. Amer. Math. Soc.* ,107 (1963):300-308.
- [20] S. Ruscheweyh. Neighborhoods of univalent funtions. *Proc. Amer. Math. Soc.* ,81(1981), 521–527.
- [21] H. Silverman. Partial sums of starlike and convex functions. *J.Math. Anal. Appl.*, 209 (1997): 221 - 227.
- [22] H. M. Srivastava and S. Owa (eds.). Current Topics in Analytic Function Theory. World Scientific Publishing, New Jersey(1992).
- [23] H. M. Srivastava, Shu-Hai Li and Huo Tang . Certain classes of k-uniformly close-to-convex functions and other related functions defined by using the Dziok-Srivastava operator. *Bull. Math. Anal. Appl.*,1(3) (2009): 49-63.
- [24] J.-L. Liu, H.M. Srivastava. Classes of meromorphically multivalent functions associated with the generalized hypergeometric function. *Math. Comput. Modelling*, 39 (2004):21-34.
- [25] J.-L. Liu, H.M. Srivastava. Subclasses of meromorphically multivalent functions associated with a certain linear operator. *Math. Comput. Modelling* ,39 (2004):35-44.
- [26] B A Uralegaddi, M D Ganigi. A certain class of meromorphically starlike functions with positive coefficients. *Pure Appl. Math. Sci.*, 26(1987):75-81.
- [27] B. A. Uralegaddi and C. Somanatha. Certain differential operators for meromorphic functions. *Houston J. Math.*, 2(17)(1991):279-284.
- [28] B. A. Uralegaddi and C. Somanatha. New criteria for meromorphic starlike univalent functions, *Bull. Austral. Math. Soc.*, 1(43)(1991):137-140.